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Sociology

Paper II

THISTIME
P9aeRT 11

Time Allowed : 120 Minutes]
Note

[Maximum Marks : 200

: This Paper contains Hundred (100) multiple choice questions. Each question

carrying Two (2) marks. Attempt All questions.

U STed. T YA e

: I YETURARHE] THU FIAR (100) TgIART YA el Sed. Yoo YAl g (2)

Given below are two statements, one
is labelled as Assertion (A) and the

other as Reason (R) :

Assertion (A)

universal institution.

: Family is a

Reason (R) : It is expected to
transfer sexual rights to the spouses
in family.

Select the correct answer from the
codes given below :

Codes :
(A) Both (A) and (R) are true and

(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true
but (R) is not the correct
explanation of (A)

(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

et g faum foelt oTed. ™ T
Ffaaed (A) 318 T g SR (R)
3R,

YfaareT (A) : FHd & dEfeh qee
R.

HRUT (R) : SISl oifiteh SRR
TS IO HIaTHE ST ST

Wil HehdiehUeh! IeR IR faer

e

(A) (A) 3T (R) SIFaT SR 3TTed STfo1
(R) T (A) T Iy TSR0 378

(B) (A) 27fur (R) Tt s@I 37Ted, I
(R) g (A) ¥ 49 TEIa{0 M@

(C) (A) SR &8 99 (R) 9I% 3%
D) (A) I 38 907 (R) SR TR

[P.T.O.



Which of the following gases protect

us from harmful sun rays ?
(A) Nitrogen

(B) Ozone

(C) Oxygen

(D) Carbon dioxide

Which one of the following is not an
indicator of Human Development

Index ?

(A) Life Expectancy

(B) Education

(C) Level of Urbanization

(D) National Per Capita Income

Which view among the following is

the oldest ?
(A) Cyclical view of social change
(B) Linear view of social change

(C) Evolutionary model of social

change

(D) Dialectical model of social

change
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TITCTeTdehT hivrdl o orae ' g3 feRon-
TRA S TRE0 HLl ?

(A) ST

(B) ST

(C) 3RS

(D) e SHSFES

o~

AN n NN a o N ¢ ~
LY en] nlVUld HIAG] [dnld [HAQR]llen A
el A& ?

(A) SeHEIA 9%

(B) Teretor

(C) FTHRTum= dees!

(D) TTER T Iq=

TTeedsht IOl gftesha wata
e ?

(A) HISeR IRedAr=T =k giteswh

(B) gmHIfSIeh qRacren T gfteshA

(C) gmHIfSier ReEdare Schidagl IieY

(D) TSR URedara gglcHeh UTey




Most of the states in India have their
distinct language. This is an example

of :

(A) Social Stratification
(B) Social Difference
(C) Hierarchy

(D) Inequality

According to Max Weber ‘class’ as
a dimension of economic power can

be understood through :

(A) Control over mode of

production

(B) Market situation and the life

chances
(C) Possession of property
(D) Having a salaried job

Whose work on ‘Stigma’ led to

emergence of disability studies ?
(A) A. Schutz

(B) G. H. Mead

(C) T. Parsons

(D) E. Goffman
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TRARITE SgATeT ST el ATt TeH

O 3R, § HIM SR 3”2

(A) HHISeR TRl

(B) @mIfseh 9g

(C) #rufar

(D) forsm

‘i’ ¥ enfYe wow afeor egA q
SHIMeAT SR FHSH ol Id’ S qa
T T

(A) SRATAT Ygder I

(B) STSTRfEerdt for el weft

(C) HY= HIeTeh]

(D) TR AR 3T

[} NN o ¢ hd ) * ~ ~
GcdleTHeh[ h[UT=AT "ehefsh AT HeheU{Hod

faReATTTaT STeqIAT=a1 3ISATH =TT
et 2

(A) e YeH
(B) <it. w9, Hre
(C) efdAerie UrH

(D) sfef Tt

[P.T.O.



10.

As per census 2011, the number of
disabled persons is the highest in

which of the following age groups ?
(A) 10-19
(B) 20-29
(C) 30-39
(D) 40-49

Who introduced the concept of

glocalization ?

(A) Ronald Robertson
(B) Martin Albrow
(C) Zygmunt Bauman
(D) Erik Swyngedouw

The only tribe which claims to be

vegetarian is :
(A) Toda
(B) Gond
(C) Bhil

(D) Santhal

10.
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2011 = STTIHTIR Wecdeh! ShIvTe

FANTee fasherT=l S Fard S
e ?

(A) 10-19

(B) 20-29

(C) 30-39

(D) 40-49

ST R 1R <0 (Glocalization) 3T

ooyt 3@ FHUNT HEd foeft ?

(A) TMTeE Aseed

(B) wif&A fresi

(C) ferde e

(D) & Hies

AU hIORIT STCATH STHIT LRI

YA TEl Sl ?

(A) dreT
(B) e
(C) faa

(D) U




11. The communities that are engaged

12.

in Internet to carry on public
discussions substantively with
sufficient human feeling in the cyber-

space is described as .................. .

(A) Cyber community

(B) Virtual community

(C) Epistemic community

(D) Temporal community

When agrarian stratification is
discussed we generally refer

Ot .

(A) Dominant caste

(B) Control over land

(C) Land alienation

(D) Rural poverty

11.

12.
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I SRR S GEE S

HISHIA A Soard ed Herseheai

(A) HIsE T

(B) STYTEl WHE™

(C) I HHEH™

(D) <hifcieh HHSM

(C) SIH=TaRT= el

(D) T TS

[P.T.O.



13. Give below are two statements, one

is labelled as Assertion (A) and other

as Reason (R) :

Assertion (A) Usually
development projects lead to

ecological degradation.

Reason (R) : India needs big
development projects to become

super power.

Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are correct and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are correct,
but (R) is not the correct

explanation of (A)
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true
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13. el gF faum foelt 3ed. «@mde T

Jfaued (A) TR M1 TR &R (R)
.
gfaures (A) : FEEHREY faw
Weheqre qior aRRerieTete g mEe
2.

SHIUT (R) : HERERT SHUAMEEST RATT

Hioa faem Yeheur=l TS 3.,

oY LI NI WY\ N o
Llctlel dendlen(Henl ORlo ST [1ds].

- -
-
-

(A) (A) 2701 (R) Sl SIS 3Ted ST

(R) & (A) = Irg TR 3T

(B) (A) =7for (R) S=l seR 3Ted, 91

(R) ® (A) 9 Ir TOeeRdul el
(C) (A) 3R 38 g (R) T I 318

(D) (A) % 3% g (R) § SR 31




14. Habitus does not focus on our ways

15.

16.

Of e .

(A) Acting

(B) Feeling

(C) Thinking

(D) Rejection of belief and values

Which theory of exchanges as a
structuralist method of studying

kinship relations is known as ?
(A) Alliance theory

(B) Group exchange theory
(C) Direct exchange theory

(D) Descent theory

Which one of the following

statements about gender is not

correct ?

(A) Is a normative disposition
(B) Is a cultural construct
(C) Is a natural disposition

(D) It helps understand inequalities

15.

16.
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MUY AL FEAER! 95d T
Tt v fHgid Sl Sl ?
(A) It fagrd

(B) we fafma fagm

(C) e fafma fagia

(D) =9 fagm@

Treteent fammaren deufdia v
faum SRR A ?

(A) TS Yot oTe

(B) Urapfas Iea o1

(C) wgfieh Wt 2T

(D) faoHdr STUE HUIAT HEd hid

[P.T.O.



17.

18.

Delay, before change in one part of
society produces realignment of the

other part is known as ................. .
(A) Cultural adjustment

(B) Acculturation

(C) Generation gap

(D) Cultural lag

Which of the following cannot be a
hidden curriculum of education
from the point of view of capitalist

society ?

(A) A curriculum that produces

subservient workforce

(B) That produces more integrated

and rebellious workforce

(C) That produces passive and

obedient workforce

(D) That encourages to accept

authority without question

17.

18.

MAR - 14223/1I—A

THTST=AT Wehl SEahTdiel URedaTdiel facts

T ST SHAT Seehldiel Tie JSad

(A) TEHfas desiie

(B) THEHIRTT
(C) fudlidier 3T

(D) WiEhfas v

qrSaet! THTSTAT geeh M Teierde]

IV AT STATHRH 3T Thd A& ?

(A) AFEHY S TSR STRTRRT

et T

(B) 31 SN 31fYeh TenlfcHer 1foT
foser gt At At

(C) fafewma snftr =y st fmfor
HLAl

(D) i gy A faerar feudd

THATRTIOITY st edl

10



19.

20.

What was the population of elderly

(60+) in India as per census 2011 ?
(A) 6.4
(B) 6.7
(C) 75
(D) 8.0

Given below are two statements, one
is labelled as Assertion (A) and the

other as Reason (R).

Assertion (A) : Political sub-

cultures are rarely homogeneous.

Reason (R) : There are significant
differences among the politically

conscious sections of society.

Select the correct answer from the
codes given below :

Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true,
but (R) is not the correct
explanation of (A)

(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

19.

20.
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2011 =AT SIFVHTER WRAN(A oIk

(60+) wREE fodt Bt ?
(A) 64
(B) 6.7
(C) 7.5
D) 8.0

et gF faum foeit emed. T R
Ffaaed (A) 3T g 38 SR (R).

Yfaute (A) : TS T SUGEH! Farad

Tehfod] 3TdT.

SRUT (R) : TSTehIAGS] SIS HHISI-

FehHE] e Ul HA¥S STHAw.
Wt GehdiehTdeh! a7y Iak faer .
‘Ff@ﬂﬁﬁ :

(A) (A) 3T (R) St SR 3TTed ST

(R) ¥ (A) 9 Irg TILHI0 3T

(B) (A) &1fo1 (R) S8t seR e g
(R) ¥ (A) = A TR el

(C) (A) seR 378 W (R) ¢ I 3T
(D) (A) I 3R g (R) T IR 3T

11

[P.T.O.



21.

22.

23.

24.

Who opines that “Laws are actually

codified mores” ?

(A) E. Durkheim

(B) W. G. Sumner

(C) G. Arnold

(D) B. Malinowski

Which of the following states does

not have water wetlands ?

(A) Punjab

(B) Gujarat

(C) Haryana

(D) Rajasthan

Who among the following held the

view, “Marriage is rooted in the
family rather than family in

marriage” ?

(A) G. P. Murdock

(B) E. A. Westermarck

(C) C. Harris

(D) L. H. Morgan

‘Tharwad’ is ......ccccec...... .

(A) A kind of extended family
(B) A kinship usage

(C) A rule of residence

(D) A community

21.

22.

23.

24.
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a_n

" T HTAQ § Wiehfaeh lshidl 2Ted

3 FIE AT TR 7
(A) 3. @A
(B) T=. Sft. ¥R

(C) <. S/Ales
(D) Y. HefArEht

@ikl IO SATd UT0IUes SITHHAT
ed ATéa ?

INICEIC]

(B) TTSH@
(C) =i

(D) TS

"ol TS faererd g feremers
T Hedld Hard,’’ 318 weiedent
HIUME 7 AR 2

A) st . wetEs
(B) 3. U IETHH
(C) §t. g™

(D) TA. TH. HiH

(A) fae=ia fHgam=n TR
(B) €= SRR

(C) TedramEse= fam
(D) ¥9<=

12



25.

26.

27.

Customs are also called as ............ .

(A) Folkways

(B) Mores

(C) Laws

(D) Values

For Marx the mode of production

refers to .......ccceee... .

(A) A combination of means of
production and forces of
production

(B) A combination of means of
production and relations of
productions

(C) The dynamics of relations of
production only

(D) The dynamics of means of

production only

When more and more individuals
undermine marriage for procreation,
their orientation to sexuality can be
called ................ .

(A) Heteronormativity
(B) Same sex sexuality
(C) Hyper sexuality

(D) Plastic sexuality

25.

26.

27.
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WOl & GG U
(A) SRl

(B) kIl

(C) =rR

D) 9

AR =T AAER, IcqeA9Gdl Teurs

(A) IcURAT=T HiEH vy SeqreAT=A
TR AT TR

(B) SCUGATET E1EH S0 IcaeATe Hael
I Thihio

(C) *aw IR Hagmee Tfaeiieran

(D) “hdes 3cIIEd FIEAMeel Tfaierdr

STolesl HATRIR ekt TG AT

o AN ~ X ~ ~
[Adlelcdl onHl AEdld, deel clliienden s

qIEUITE T grbdqol'ilc'il
¥ TRUrd.

(A) TgEATHSR
B) w5
(C) AfaeifiTehan

N

T Tendl

D) ==t

13

[P.T.O.



28.

29.

30.

Whose name is closely associated
with the concept “Development

Communication” ?

(A) Denis MacQuail

(B) Daniel Learner

(C) Robert Redfield

(D) Everett M. Rogers
Subculture refers to ................. .
(A) Ethnocentrism

(B) Homogeneity of values

(C) Counterculture

(D) Common lifestyle

Which one of the following is not the

source of identity ?
(A) Ethnicity

(B) Attire

(C) Sexual orientation

(D) Class

28.

29.

30.
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[ L4 ’ L Nes fa N N
[FdhTH HATIT AT Hh<UA[aTIT h[UTH

e FeEfed g ?
(A) =f deEa
(B) =@ o
(C) Tee TThicS

(D) TwE T, WS

SUETHAT U
(A) EEHE SeedER
(B) YoAMHIA T
(C) wfaewpdt

(D) FHM Saq TGl

WATAUeh! hIOMT odeh  IERd=T i
2

(A) afeTeRar

(B) T

(C) WfiTeh AT

(D) ot

14
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31. “Power is intimately linked to | 31. ‘‘¥cl IERM AHA TgdH SScia
knowledge.” Who said this ? 3Ha."’ § v A ?
(A) Bourdieu (A) 94
(B) Giddens (B) fire
(C) Foucault (C) eI
(D) Beck (D) &
2. A fl 3 . ~ P
32. Agency reflects in S
(A) A student challenging caste
S , (A) foemdterdter STt snenfid Sguraret
based discrimination in
university e <umRT foemedt
(B) A youth stealing money for
(B) Wigeh TErATER U¥ IRUM qE0
drugs
(C) Daughter demanding dowry as
her right .
s (C) Bk WUH §SI HETOT Heit
(D) Mother-in-law’s power over her
D) IRt Aaid Hedl
daughter-in-law (D) et g
15 [P.T.O.



33. Given below are two statements, one

is labelled as Assertion (A) and the

other as Reason (R).

Assertion (A) : Eviction of Slum
dwellers forces them to live in

precarious conditions.

Reason (R) : They are not properly

rehabilitated after eviction.

Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true
but (R) is not the correct

explanation of (A)
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

MAR - 14223/1I—A

33. @rel g faum fooet 2mRd, THM

JfqUR (A) HellEl 3TE T G-I HR0
(R) TaleA 2TTe.

gfautes (A) : SHSug!-anfE fshmam
o srfafyed aitfeerdia eI 9m
red.

HROT (R) : SRR &= I 9gdi

I el Sd TR

[N

Tt foeied! Hehdiehl= STHR 3T S

IREEIEE

Hendieh :

(A) = (A) 0T (R) & SRIsR 3T7ed
A (R) § (A) = 3T TR0
Sl

(B) Il (A) 3TfUT (R) SeR 3fTed T

(R) ® (A) 9 SRIeR TR0 M@l

(C) (A) ® ssR 3R Wg (R) § I
Sl

D) (A) T I 28 WJ (R) T SR
3T

16



34.

35.

36.

Every economy has three sectors.
Which sector has witnessed marked

growth in the last 25 years ?
(A) Primary

(B) Secondary

(C) Tertiary

(D) Welfare

What term is used to describe the
gaps between the living conditions
of some groups and those enjoyed by

the majority of a population ?
(A) Enforced poverty

(B) Culture of poverty

(C) Relative poverty

(D) Absolute poverty

Who argued that the nature and
dynamics of Indian agrarian
economy can’t be understood
without connecting it to the

imperialism ?

(A) H. Alavi and I. Banaji
(B) K. Marx and F. Engeles
(C) M. N. Srinivas

(D) A. Beteille

34.

35.

36.
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Joeh TR A1 &3 3THArd. e
25 O IO &ATd g HUATSIIT aTe
oAl 3 ?

(A) W

(B) fadtah

(C) o=

(D) TreheheaTol

HTE HHSETE UEUHN o agHEAR

TBUMHE I S0 90 hIOm] 9=l

IOt ?

(A) wEee T

(B) afgem=h wepdt

(C) et TG

(D) fRYa <hs=

"W R ST WEY § T

T WS THSIARR a3

(a)

US| Tehd RN, e gfdured v

& ?
(A) TH. S & ™. ST

(B) &. W 9 ThH. Wied
(C) WH. w. #iffam
(D) T <SS

17

[P.T.O.



37.

38.

39.

What is the researcher’s relationship

to the respondent in post-

structuralism ?

(A) Equal

(B) Superior

(C) Inferior

(D) Equal and dialogical

In which report the United Nations
introduced the term ‘Sustainable

Development’ first time ?

(A) Report on Human Rights
(B) The Limits to Growth

(C) Our Common Future

(D) Human Development Report

Empirical research is not research

basedon ....cceeueeennenn... }

(A) Evidence collected by systematic

observations from the field

(B) Ideas generated through

theorizing and conjecture

()

Studies that are realistic and

relevant to the social world

(D) On site database gathered by

the researcher

37.

38.

39.
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SR-TEHTETE SREehT™ Faaerei
Y Aqd ?

(A) §HH
(B) a3
(C) =i

(D) 9 9 HaE]

Hﬂclﬂ {IWXHQHI"I SHIHA n[Ulcdl Hadldld

FageH ¢ Sved faemm’ & T e ?
(A) T o &= Twem
(B) T fafvem 2 Wy

(C) 3R HhiHT H=

(D) T Swaudc RuR

(A) =gafeed &t fiaomea mem

Hehfold holcdl qeier

(B) HGTAIRI0l & ST{HMIGA  SATere
IEEINER

(C) wmHIfSTeh fowamen arfas 9 gama
STHHEX

(D) TETRADTTET HINLHTT Hhfad

Heledl qea
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40.

Which of the following is a

characteristic of qualitative

research ?

(A) Objective

(B) Cause-effect linkages
(C) Value-free

(D) Subjective

40.

MAR - 14223/1I—A

ETTeTdeh! I TUMCHE  HN LT

Ifyres 3R ?
(A) TS

(B) &R FaY

(C) JAfagH

(D) Al

41. Which of the following is a measure | 41. Weliclush! HIVET Had FI=l AFCS
of central tendency ? Mg ?
(A) Mode (A) wgetsh
(B) Range (B) ATt
(C) Standard deviation (C) gHIT fa=ed
(D) Codification (D) Hehelehiol
42. Ethnography implies .................. . 42. ARG Hfed
(A) People are meaning makers (A) @k Y=g HIA
(B) Objective study (B) Tﬂﬁ’ﬁl’% A
(C) Research on people (C) <IehieR Femed
(D) Sociometry is the study tool (D) TUNIHGT § 199 e 378
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43. Match List I with the List IT and | 43. &t I "efte Yeaian At 11 Aefter geareht
mark the correct answer from the Sire A feeied AFd ST Fehdich qar]
codes given below : e =

List T It 1
(@) Central tendency (@) 9% Yot
(b) Dispersion (b) TR
(¢) Correlation () wHegaY
(d) Test of significance (d) Jeneda=t =reon
List II et 11
(1) Mean deviation (1) w3 fo=e™
(2) Pearson’s coefficient (2) fastd=T=n o
(3) Median (3) weATH
(4) “‘¢-test (4) ‘FA'-=
Codes : Hordieh
(@ ®) () (@ b)) () (@
A @ @@ @ 3 A @O @ @ 3
B) 2 B @ @ B) 2 B @ @
< & O @ @ < 3 O @ @
D 3 @ @ @ D B @ 2 @
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44.

45.

46.

Which is the crucial feature of a good
sample ?

(A) Small size

(B) Representativeness

(C) Easily approachable

(D) Easy to study

The village Mendha Lekha in
Maharashtra is known for its ............ )

(A) Strong local self government
(B) Tribal art

(C) Empowerment of women

(D) Agricultural development

According to Toffler, the wake of the
arrival of the third wave human
social relations and the institutions

are experiencing .................... .

(A) Consolidation in their social

relations

(B)

Disorientation in their social

relations

(C) Consolidation of their

primordial relations

(D) Consolidation of their secular

relations

44.

45.

46.

MAR - 14223/1I—A

AN A el aftTed &
e ?

(A) R AR

(B) wrfaffershar

(C) Hush gAY

(D) 1T AW

TRl Hel oiel § ©e
e .

(A) T TR @S HEEe
(B) sTfeardt shetqrdt

(C) wfgen HaclehIomard!

(D) Fet fawrEEEt

SR Jd, HFE! GraTSTeh Tae] 7707

e fawe e SEET gEe

(A) = HHISR Geee Tehsiehiul

(B) W= WIS Feert feenya
(C) W= STfcH HaEm™ Tehsiehiul

(D) = Ufewr Gauma ThHTH0
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47.

48.

49.

Which of the following is a New

Social Movement ?

(A) The Backward Class Movement
(B) Peasants Movement

(C) Trade Union Movement

(D) LGBT Movement

Through social media false things
are proven as reliable and true by
the powerful sections. This is termed

as :

(A) Media management
(B) Cyber manipulation
(C) Misrepresentation
(D) Misunderstanding

Information revolution led to the

following change :

(A) Literary skills to mechanical
skills

(B) Decentralization of work away

from factories

()

Predominance of manufacturing

sector

(D)

Fordist organization

47.

48.

49.

MAR - 14223/1I—A

GTeATeTdehl IV Ueh <Tel WHISTeh STR I
e ?
(A) 9FTE o Fodcs

(B) IdHl Tacs

(C) 3T YA Foas
(D) WA Sft. . 3. FosdDd

HTERY TTefehe HHISh AIEHHTRA
e Mt Siegl wed efur fogerada

A g shedl ST degl e
1Y TEITAT.

(A) HIEgH FaEIUd

(B) 9rIsX g&icired
(C) Tryufafafuc
(D) TREHs

LI NN fa)
Hifgdt e Sl saal el

(A) TISRAT ST 9 FifAh Hiwed

o

(B) HREFIRA T FEE |

[a)

[eh Yl

-
h

(C) e & e

(D) HwIfER= Fee
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50.

51.

Which of the following act of violence
has yet not been formulated into a
law ?

(A) Honour killing

(B) Domestic violence

(C) Sexual harassment at workplace
(D) Dowry practice

Given below are two statements, one
is labelled as Assertion (A) and other
as Reason (R).

Assertion (A) : Poor women are
both victims of environmental
degradation and active agents in

environment protection movement.

Reason (R) : The women are more

jeopardized than men.

Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are correct and

(R) is correct explanation of (A)

(B) Both (A) and (R) are correct,

but (R) is not the correct
explanation of (A)

(A) 1s true, but (R) is false
(A) 1s false, but (R) is true

(&)
(D)

50.

51.

MAR - 14223/1I—A

(a)

EefeTden] IO fedr= Sl 3T FHIFRT
WA aiid e Awl ?
(A) ST ferferm

N e o

(B) <hIgleeh TEHTER

(C) = fommrolt B <iftteh B
(D) ST M

et gF faum foeft omea. T wiaaes
(A) eT® 3T g &R (R) 3R

gfaures (A) : e Hieen, weRoa
BT dodlal AT STl cAT=aesl

fa)

TR0 U] FesobHed Fehd hedial

STHdId.

&ROT (R) : qeonden fo@n oifue
gehgTaeh g STHdrd.

Trelldl Heharemed ard I Hae -

Hehdich :

(A) (A) 31U (R) =21 =R 3T, 301
(R) B (A) T g TOCh] 3T

(B) (A) =7fo1 (R) Sl sIsk 37ed, W
(R) T (A) 9 Img TIShI0 TRl

(C) (A) sRIR 3¢ 907 (R) B I 31
(D) (A) I 3R 901 (R) § s 3§
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52.

53.

54.

Which one of the sustainable
development goals deals with the

climate change and its impact ?
(A) Goal No. 6

(B) Goal No. 8

(C) Goal No. 13

(D) Goal No. 15

Hindi movie ‘Ki and Ka’ is an
example of which of the following

concepts ?

(A) Androgyny

(B) Gender bending
(C) Gender roles

(D) Gender conflict

The ‘new’ about new religious

movement is .......ccccceeenne .
(A) New religion

(B) New action style

(C) New leadership

(D) Alternatives to the mainstream

religions

52.

53.

54.

MAR - 14223/1I—A

WeATAdeh! I MYad fam &9 §
SATH SICATSI o car=AT TiomaTe Geiied
e ?

(A) 2 . 6

(B) &9 %. 8
(C) &3 %. 13
D) &3 &. 15
&St fasrae ‘=t enfor 1" =1 wrefietteh!

HIU GohoUdd IS0 3T 2

(A) SHITATT

(B) famara areha)

(C) famamE often

(D) famme Fe

T YfHe Hedaidid (Td’ TS

(A) a1 &d

(B) &t pferet

(C) -t gt

(D) &4 Yaé gdi1 9
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56.

57.

refers to a combination

of research methods adopted for

studying social phenomena.
(A) Ethnography

(B) Triangulation

(C) Ethnomethodology

(D) Positivism

Interview is not a ......ccccee...e. .
(A) Simple two-way process
(B) Multilayered interpretation
(C) Complex tool

(D) Interpretation of silences and

pauses

‘Broad, overall evaluation of what is
knowledge and how it can be

studied’ is called ................. .
(A) Methodology

(B) Epistemology

(C) Positivism

(D) Ontology

55.

56.

57.

MAR - 14223/1I—A

graTfSier SEA"T IYATH  HITITHTS]

hReed TeNed IgEdea fHarhre

IE WS T I AHR TR Hod-

g o D I hd HUad ATl

(A) TEAETE
(B) JEHHIETSTE
(C) TS

(D) Hcal HIHTETIE
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58.

59.

60.

Positivism refers to ................ .
(A)
(B)
©)

Objectification
Positive attitude to research

An epistemological position
privileging neutral, objective
analysis

(D) Integrated analysis of data,

theory
Research ethics aim at .................. .
(A) Efficiency in research

(B) Ethically sound decisions about

research
(C) dJustified research findings
(D) Reduction in research budget
Which of the following is not

indicated by a survey ?

(A) Collection and

information about people living

of data

in a specific area

(B) Undertaken for administrative

as well as sociological purposes

(C) Collection of great deal of data

about the lifestyles of people
(D) Used to study the dead and past

society

59.

60.

MAR - 14223/1I—A

T —— HE—

(A) TEHRIT

(B) GYNEATHS STEUATAT hHTRICHE
gfteen

(C) de®Y, IEfT3 fageisumen #gw
MG RIS fien

(D) qerEm i, fagia a9 Usifcash
forgeTemon

oo Afaensia weue 3fes

I 3.
(A) FeMYATAS hTedermar
(B) GyneATfasEi=  Afaemeiiag s

g fvta
(C) HeeAT 3@ fohs <= |HeH
e

(D) GeleATen 1Y Heheurd T

T Wetierent son faur e

R L

(A) fofeTe FeemHE TEU=AT RISt
mifedt MfoT et Heher

(B) TR TE FHSTSG T S2HISH
TS

(C) <reh=a SR aoeh Hgwergul
qeA Heher

(D) RIS o SATeTed THTST=A
FFIAHIS ST
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61.

62.

Post-fordist organisation is

characterised by :

(A) Standardization

(B) Greater flexibility

(C) Assembly line production
(D) Centralization of labour

Hypothesis formation is not a part
Of oo, .

(A) Survey
(B) Positivist research
(C) Steps in qualitative research

(D) Policy research

61.

62.
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4

N T T T R

dl

SaR-Thife R Foe-d
R,

(A) GHTOTERT

(B) 3ifyer afaehdn
(C) shfHsh Teoull IcdIGA

(D) HH= HelhL

(A) FE&

(B) Wca&feTel HeEH

(C) T[UTcHeR HRNEARTA =4
(D) ERUMfaeRA= HieH

63. Which one of the following does not | 63. Tciadeh! i faei= fafTeregH
show commodification of rituals ? M ?
(A) Mass Karva Chauth celebration (A) SFHYEETEHE HE ep T A
(B) [C:J:Ii‘\elzzzlycelebration of Sangeet (B) Wit T T W 0
(C) Private worship of god (C) ameil T ST
(D) Jallikattu (D) wfewhg
64. Which of the following does not | 64. AR R HeRS oS PERd vl
describe McDonaldization ? T 2
(A) Efficiency (A) e
(B) Unpredictable (B) YRR
(C) Automated (C) =t
(D) Calculability (D) TTUAT TSI
27 [P.T.O.



65.

66.

67.

Depeasantization refers to .............. .

(A)

The declining of peasant

practices

(B)

The substitution of market

rationality in agriculture

(C) Expulsion of small producers

from the land
(D) Commercialization of agriculture

Which term is used by Karl Marx
to describe the process by which the
working class grows increasingly
impoverished in relation to the

capitalist class ?
(A) Precariat

(B) Pauperization
(C) Marginalisation
(D) Exploitation

Who argues that any consideration
of social facts without their value

components is unreal ?
(A) Radhakamal Mukerjee
(B) G. S. Ghurye

(C) Irawati Karve

(D) M. N. Srinivas

65.

66.

67.
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oo C [a) ~

[RIESSIRIESUIER AN

(A) SRt ffed =TagR w2

o [a) ha

(B) Srdi-earsirean fagehien o

TnEoy

~

(C) <&M Il SR SITHATIT g
w0

(D) I AR B0y

qeaadR! = garid SfHeh adrd

e QoA Hfshael I hITae!

Il IR AT RIORT E= AT TR 2
(A) eAffeeEa

(B) hTTefteR ol

(C) EHidterta

(D) 3TooT

‘grfSer 9 fa=a SdrT qear

qeaTcHeh BIeeh I8 1 B0l § STerel
AR’ AW HIvl Yfaued ol ?

(A) TERTA TEISH
(B) Sft. wa. g3

(C) ST el

(D) T T e
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68.

69.

Which of the following is not the

characteristic of Disneyization ?
(A) Theming

(B) Hybrid consumption

(C) Merchandising

(D) Individual identity

What does Weber’s concept of zweck-

rational action involve ?
(A) Means-end relationship
(B) Habits of the actor

(C) Only means

(D) Emotions of the actor

68.

69.

MAR - 14223/1I—A

Tt v feeTeRT= aftrsey
e ?

(A) FEeia wreuh

(B) Hehlld UM

(C) ARSI

(D) AT 3@

JI T SHAHEEA AT FGhoqTaed

HIME AL Bl ?
(A) §EA 9" w9y
(B) sheaf=a wadt
(C) hde HTEH

(D) A= &l

70. The famous book, ‘The Moral | 70. ‘‘T Hitcl THHAM 311% € fzie ; Wi
Economy of the Peasant : Rebellion 3fre gade 5 qrS YT TR’ °@
and Subsistence in South-East Asia’ - -

J&iehld Ti@eh <hlol ?
is authored by ......cccccc....... .

(A) S/ Hl. @l
(A) James C. Scott
(B) Partha Chatterjee (B) e
(C) D. N. Dhanagare (C) €. . &R
(D) Andre Beteille (D) g SdE
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71.

72.

What term is used by Durkheim to
understand “The totality of beliefs
and sentiments common to average
citizens of the same society forms a
determinate system which has its
own life” ?

(A) Division of labour
(B) Collective conscience
(C) Mechanical solidarity
(D) Organic solidarity

Match List I with List II and select
the correct answer from the codes
given below :

List I (Author)
K. Marx
(b) E. Durkheim
() M. Weber
(d) T. Parsons

List IT (Book)
The Social System

(@)

(1)
(2)
3)
(4)

Economy and Society
The Poverty of Philosophy

The Division of Labour in
Society

Codes :

(@)
A 4)
B) )
(C) (M
D) @)

(b)
3)
4)
(2)
(1)

(c)
(2)
(2)
3)
4)

(d)
(1)
(1)
(4)
3)

71.

72.

MAR - 14223/1I—A

TR IS T ARTRER AT
foIgam & e 9 B U R0 FuReE
I 3z, TN T WA= 3™ g
ST, T STRSHA hIUT T AT
R ?
(A) gEfaIETOR
(B) Wi HIEgforeeh
(C) =ife T
(D) Sifow T
T 1 smfon At I Seeen Swfor @it
feeied FiehdishAYA ard I e :
A& 1 ()
. A
(b) T STEEA
(¢) TH. TR
(d) 3. 9E
RLEUN | RS ED)
31 Here fafen
THAHT ST FrA=eT
(3) @I uregdl S fheirdrnt
(4) < fefgsm % TR 37 WEmERl
Hehdieh :
(@)
(A 4)
B) 3)
©) D
D) 2)

(@)

(1
2)

(®)
3)
4)
(2)
(1)

(c)
(2)
(2)
3)
(4)

(d)
(1)
(1)
4)
3)
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73.

74.

75.

Who wrote the book ‘Commodities

and Capabilities’ ?
(A) Amartya Sen
(B) M. N. Srinivas
(C) D. P. Mukerjee
(D) A. R. Desai

Which one is not the part of

ecological infrastructure ?
(A) Soil

(B) Flora

(C) Building

(D) Fauna

“Rules, social recipes, conceptions of
appropriate conduct used as a frame
of reference to act in social world”

is called ................ .
(A) Life world

(B) Stock knowledge
(C) Role-taking

(D) Indexicality

73.

74.

75.

MAR - 14223/11—A
‘HHEEREN ofve Hifachfes’ a1 ERME
TEE RO ?
(A) e |7
(B) TH. T #iifam
(C) €. . HEst
D) T MW, <R
TTefeTdeh! Shivd TR TR
HTEE A AR ?
(A) @t
(B) oT&det
(C) wdt
(D) Wit ST

o

N
EREEH

Y greTfSTeR ST SRt SRIAT
qmETeeR Ta omfur 3fed adAfasEe

Heheudl A He o dlehe A AT el

(A) STeAfad
(B) AMgma1

(C) YfHeRT &R 0l
(D) YRl
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76.

77.

78.

The emergence of creches for taking
care of infants is the example

[0) SPUTURRURN .

(A) Dysfunction

(B) Non-function

(C) Functional alternative
(D) Latent dysfunction

The Savage Mind is written
by e .

(A) Karl Marx

(B) Claude Levi-Strauss
(C) Harold Garfinkel
(D) Clifford Geertz

C. W. Mills’ concept of ‘Power Elite’
refers to a group of three elites

(A) Economic, Political and Military
(B) Social, Economic and Political
(C) Social, Military and Political

(D) Social, Military and Economic

76.

77.

78.

MAR - 14223/1I—A

TR TCATe Shieosi! SUATHIS! TesuITeRI=T

ATAA 3T § HIMT ST 3T ?
(A) o

(B) et

(C) HEHR 3™

(D) 3T9he 3TThTH

A e N

fe 9= urEe, § v fafea

3 ?
(A) HTed A

(B) FAfe TRi-w2M

(C) Tee TRk

(D) FrererE ey

. Ty, fhew o=t ‘R sfee’ @

HehouHT diF A= Feerfaseh e

(A) sTfdfer, Tstepta amfor Jffent
(B) WmISeh, Tt o7ifor Tsehtd
(C) qrTrSteh, dfFert omftor TSt
(D) WS, HfTeRt oo s
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79. Which feminist perspective focuses o o
79. IO HMEQI %l YoHdlAdl q9
upon the interconnectivity of JeaaeTaide STaasEeR a8 SR
patriarchy and capitalism ? F ?
(A) Liberal feminism (A) STRHAAR] Tiare
(B) Socialist feminism (B) WUNER! SHag
(C) Radical feminism (C) SRITHAAR! AR
(D) Marxist feminism (D) TR Siamg
80. ‘Because motive’ and ‘In-order-to | 80. ‘Ul gyom’ sfor ‘=grETS-gOm’
motive’ refer to ................... A Fﬂail h {dTd
(A) Future and Present (A) W efor o
(B) Present and Future (B) =AM Feres
(C) Past and Future ©)
(D) Past and Present D) %
81. Hyperreality refers to .............. . 81. 3fgemrqg % gfoaq
(A) Social experiences that are more
(A) STEqaE SAfYeh STHUR HHISh
than real
(B) Social experiences that are SNAE
unreal
(B) 3 19 WIS TI9E
(C) Social experiences that are
digital (C) 3ferld @IS 3THd
(D) Social experiences that are
unbelievable (D) SfoTerEHa 38 HHASH A9
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82.

83.

84.

85.

The personal laws governing people
of different faiths in India do not

include the matter of :
(A) Marriage

(B) Divorce

(C) Cohabitation

(D) Succession
Simulera is .................
(A) Image without original
(B) Digital image

(C) Virtual image

(D) Similar image

When was the National Environment

Awareness Campaign launched in
India ?

(A) 1985
(B) 1986
(C) 1987
(D) 1988
Which of the following is not the

structural feature of caste system in
India ?

(A) Purity and Pollution
(B) Hierarchy
(C) Segmental Division

(D) Occupational Difference

82.

83.

84.

85.
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TR fafay emi=n deem It
h LU= <\=\|¢Ii<\=|<'|ch W@ ................
IJra1 HEEYT A AR

(A) foare
(B) ¥ITThRIE
(C) HEaea
(D) ar&

(A) TEHe Tqeielt gfqH
(B) 3Thta Wi
(C) oMy wfaen
(D) FHE gfaH

TRATT TS TSRO STATEehdl
i ot HEE Sewr g gt ?
(A) 1985

(B) 1986

(C) 1987

(D) 1988

TTeedehl HIvA ARAE ST eaeses
AT dfeTses el ?

(A) gsar o ygoo

(B) &t T=

(C) TerAs fayrmo
(D) =HEEIgs 95
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86. DI‘. B. R Ambedkar,s SOlution fOI' 86. gT aﬁ‘. 3:“{ \«Hiasq,){i-q' \7||('|r\|'°q| \.S-U;bq'o'acfi
‘Annihilation of Caste’ is .............. . Jqryg T aTe.
(A) Reservation in Jobs (A) TRIAIA STR&TIT
(B) Intercaste Marriage (B) STdisig foeams
(C) Legal Action (C) HIERIIR Hdl
(D) Social Reform (D) | RO
87. The function of the ‘Kula-ring’ 87, WHQW‘W—T%T’%W
among the Argonauts is :
"N
(A) Status enhancement and
integration (A) ToID gaga oTfor TehTeHdn
(B) Distribution of special goods in T I A e MR
society
(C) To satisfy primary needs of the (C) WHIIE FEEA= Feffaeh Tl
members of society tgf?rr HL0
(D) To satisfy the need for ~ C e -
(D) GATEqXom=AT TSl Iddl hl0l
redistribution
88. What defines the life world ? 88. SifeMfava WUl HE ?
(A) The shared reality of everyday N -
) (A) QG S{IEATdlCT HHTEh Fid
life
(B) The life history of members of (B) HHISTHIA Te&I=l Sita-3fderd
society
(C) The world of norms, values and ©) ’tﬁa
institutions of society v
(D) The social world of behaviour
and activities (D) o= effor fepam= wmTtee fave
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89.

90.

91.

Which of the following statements

appropriately explains Mannheim’s

idea of ‘relationism’ ?

(A) Knowledge and beliefs are the
products of socio-political

conditions

(B) Certain knowledge and beliefs
are true only in certain times

and places

(C) Certain knowledge and beliefs

are true beyond time and space

(D)

Knowledge and beliefs are class

and nation determined

According to Durkheim in which
societies we can observe contract

law ?

(A) Industrial society
(B) Tribal society
(C) Rural society

(D) Small society

Which book is based on students’
notes from a course taught by

Mead ?

(A) Mind and Society

(B) Mind, Self and Society
(C) Presentation of Self in
Everyday Life

(D) The Philosophy of the Present

89.

90.

91.
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EcATeTdeh! wivd faema T8y It

AR hedqa1 garaqo e w2

(A) I Ao wigen == it drefsen-
TSt Terdiqd =id

(B) fafdrse sigen sufor 3= ¥ fafimse @

M TBTHER. HeH ST

(C) ¥res 3Tl shiesluciishe fafemse siqen
ol 9 WA STEd

(D) M 3707 sgen =1 & SAIfor ALFEN
[REIECIARIG]

S{U|£H ¢|i‘°¢|l tl%f h{[{TcHSh shldql AT
HIE ASTHES g Iehdl 2

(A) SiEfies 9=

(B) oTfearst |

(C) wTHIoT HAS

(D) B HAN

IV T&ieh Hie Rehaeicd] HWAEshHeR
foeneaft TR Shotean feuumer SR
e ?

(A) TEE 3fvg Qe

(B) TEE, Uch 3fvg WEEE!

(C) VST 3TF Uoh 37 Tsedie osh
(D) & fwrararm e < dgie

36



92.

93.

94.

According to Bourdieu, which
concept explains the ‘Mental or
Cognitive structure’ through which

people deal with the social world ?
(A) Field

(B) Cultural capital

(C) Habitus

(D) Agency

Who is associated with the concept

of “urbanism as a way of life” ?
(A) O. Lewis

(B) L. Wirth

(C) R. E. Park

(D) H. Lefebvre

T. H. Marshall’s idea of welfare

on the basis of citizenship rights

entails :
(A) Civil rights and political rights
(B)

(C)

Political rights and social rights

Civil rights, political rights and

social rights

(D) Civil rights, political rights,
social rights and economic

rights

92.

93.

94.

MAR - 14223/11—A
S AT Al ATHITSToh ST @leh SAER

AR hidid 3T HFEESh o SIEHAH

G fase IO HeheudT vt ?

(A) &

(B) WiEhfds wiedd

(C) Tfoew

(D) e

TTeadeh I § ' sTaTe 1S o1
q S AEE e HeEfd Se 2

(A) 0. o=

(B) T =4

(C) . 3 W&

(D) TH. wAweE

31, T, ARIA I AR Fenier

MYTRA AR A=A hed-d
AT e

(A) T BFH 9 USThid BFh

(B) TSIhia &FF o WIS &b

(C) M &k, USThIA &Fh (0T
TSI gFh

(D) R &9k, TSIhid &k, TTHIS

% ool amfefes ok
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95.

96.

97.

The globe trotting elites experiencing
food, clothing, aromas and spatial
features of distant places is termed

by Castells as ............... .

(A) Social spaces of Neoliberalism
(B) Spaces of flows

(C) Spaces of networks

(D) Floating spaces of elite

Castells refers to inequal access to

digital networks as ................. .
(A) Digital divide

(B) Network divide

(C) LT. Inequity

(D) Blackholes of marginality

In which year Domestic violence was

recognized as a criminal offence in

India ?

(A) 1975
(B) 1983
(C) 2005

(D) 2011

95.

96.

97.

MAR - 14223/1I—A

FTEEST AT SEX gEs fesur=ar

AT g3 o1, wue, gard o

STIRIRICH YIS Beied STHaTe

(A) TISERHATIRNET HHESeh  3TIehTY]

(B) YATRIE 3TIehTYT

(C) IS 3TahMl

(D) IS TG SRR

FRZcT AR Hoar=an fasm  gefen

(A) 3Tha faumrof
(B) O<er fasmoft
(C) wifedt G fasg drew

o ha

(D) AR IoT= FHEoTfaer

N e o

EACACE NN

TRATT hIvTcT asil SIEIE

TUEHIY YUY TU Ul ST el ?
(A) 1975
(B) 1983
(C) 2005

(D) 2011
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98.

Which concept is used by Habermas
to refer to “the conditions under
which social goals and values can
be discussed on a rational and
equalitarian basis to reach a

consensus” ?

(A) Undistorted Communication
(B) Social Action

(C) Symbolic Interactionism

(D) Disenchantment

98.

MAR - 14223/1I—A

“oTelt gkt <T@ AT 3 a

TedTEl ==t qfcheh o FHA THTER hEd

Teqdradd gl I, Il eeRHEA

HIU] Hehedql Tl 38 2
(A) AfTUEg FYooT

(B) @ISR hal

(C) wfderTcAss ATafshamEmRe

D) y=HTE

99. What does ‘Archaeology’ mean in | 99. H&r= fa@UE  Uaw@RTE ' AW
Foucault’s writings ? g wH ?
(A) Speech (A) 41907
(B) Action (B) Pt
(C) Discourse (C) wofer
(D) Value D) T
100. Hawthorne experiments in Industrial 100. ST FHSEITEAA g garm @
Sociology refer to ................ . quffeq
(A) Classical Management approach (A) SIaSTa HerT gfseshi
(B) Human Relations approach (B) wrel Heie gfteen
(C) Conflict approach (C) weordl gftesnm
(D) Functional approach (D) &EHS ghehH
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ROUGH WORK
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